contribution

7.1 1) =z | rester | n | 3* mod 19 (sir—1)
100 0 0
50 0 1 32 =
5 | 1 |2]| 9= -
12 0 3 52 =
6 0 4 62 = —2
3 1 5| (-2)2=4 4
1 1 6 42 = 16 16
310 =5.4-16 = 16 mod 19
>
2) x |rester | n | 127 mod 34 CO(I;it r;b;ltll())n
364 | 0 |0 B
182 0 1 192 =8
9N 1 [ 2] 8=-4 4
5 1 3] (<4P=16 0
22 0 |4] 16°=18
11 1 51 182=18 18
1 6 182 =18 18
0 7 182 =18
1 8 182 =18 18

364:_ . . . . = . =
127 =—-4.16-18-18-18 =4-18 =4 mod 34

=4

=18

3) x |rester | n | 52" mod 97 Co(rslit r;b:lltll()m
% | 1 | 1] =25 %
12| 0 |2 25°=43
0 3 432 =6
1 4 6% = 36 36
1 | 5| 362=35 pye
551 =5.95.36-35 = —28 = 69 mod 97
=28 =—1
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contribution

x | rester | n | 92" mod 113 (sir=1)

71 1 0 9 9

35 1 1 9?2 = —-32 —32

17 1 2 (—32)2 = 7

8 0 3 72 =49

4 0 4 492 = 28

2 0 5 282 = -7

1 1 6 (=7)* =49 49
91 =9.(-32)-7-49=51-4=91 mod 113

—_— =~

=51

=4
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